ONLINE SERVICES FILING RECORD: IFTA CARRIER RETURN



Taxpayer Name: NEW HAWK TRANS INC **Account Number: 228-367232**

Period Begin: **Account Type:** IFTA Carrier Tax

Return Type: Original

Submitted: 1/15/2024 2:51:58 PM

Confirmation #: 0-038-812-745

October 01, 2023 Period End: December 31, 2023

Due Date: January 31, 2024

Remaining Due: \$367.18

Summary	
Subtotal Amount Due or Credit	\$367.18
2. Penalty	\$0.00
3. Interest	\$0.00
4. TOTAL BALANCE DUE OR CREDIT	\$367.18

Filing Period: December 31, 2023

Jurisdiction 9	Summary											
Jurisdiction	Surcharge	Fuel Type	Total Miles	Taxable Miles	MPG	Taxable Gal	Tax Paid Gal	Net Taxable Gal	Rate	Tax	Interest	Total
California		2. Diesel	14,471	14,471	5.58	2,593	2,145	448	1.0890	\$487.87	\$0.00	\$487.87
Nevada		2. Diesel	297	297	5.58	53	500	-447	0.2700	-\$120.69	\$0.00	-\$120.69
			14,768	14,768		2,646	2,645	1		\$367.18	\$0.00	\$367.18

ONLINE SERVICES FILING RECORD: IFTA CARRIER RETURN



Taxpayer Name:NEW HAWK TRANS INCAccount Number:228-367232

Account Type: IFTA Carrier Tax Period Begin: January 01, 2024

Return Type: Original Period End: March 31, 2024

Due Date: April 30, 2024

Submitted: 4/30/2024 11:07:57 AM **Remaining Due:** \$688.31 **Confirmation #**: 0-041-791-576

Summary	
Subtotal Amount Due or Credit	\$688.31
2. Penalty	\$0.00
3. Interest	\$0.00
4. TOTAL BALANCE DUE OR CREDIT	\$688.31

March 31, 2024

Filing Period:

Jurisdiction Summary	ımmary											
Jurisdiction	Surcharge	Fuel Type	Total Miles	Total Miles Taxable Miles	MPG	Taxable Gal	Tax Paid Gal	Net Taxable Gal	Rate	Тах	Interest	Total
California		2. Diesel	22,818	22,818	6.20	3,680	3,183	497	1.0890	\$541.23	\$0.00	\$541.23
Nevada		2. Diesel	34	34	6.20	S	0	S	0.2700	\$1.35	\$0.00	\$1.35
Oregon		2. Diesel	6,058	6,058	6.20	226	1,776	662-	0.0000	\$0.00	\$0.00	\$0.00
Washington		2. Diesel	2,572	2,572	6.20	415	120	295	0.4940	\$145.73	\$0.00	\$145.73
			31,482	31,482		5,077	5,079	-2		\$688.31	\$0.00	\$688.31

ONLINE SERVICES FILING RECORD: IFTA CARRIER RETURN



Taxpayer Name:NEW HAWK TRANS INCAccount Number:228-367232

Account Type: IFTA Carrier Tax Period Begin: April 01, 2024
Period End: June 30, 2024

Return Type: Original Due Date: July 31, 2024

Summary	
Subtotal Amount Due or Credit	\$627.51
2. Penalty	\$0.00
3. Interest	\$0.00
4. TOTAL BALANCE DUE OR CREDIT	\$627.51

Filing Period: June 30, 2024

Jurisdiction Summary	/										
Jurisdiction Surcharge	rge Fuel Type	Total Miles	Taxable Miles	MPG	Taxable Gal	Tax Paid Gal	Net Taxable Gal	Rate	Тах	Interest	Total
Arizona	2. Diesel	1,726	1,726	5.83	296	0	296	0.2600	\$76.96	\$0.00	\$76.96
California	2. Diesel	19,754	19,754	5.83	3,388	2,991	397	1.0890	\$432.33	\$0.00	\$432.33
Colorado	2. Diesel	225	225	5.83	39	0	39	0.2650	\$10.34	\$0.00	\$10.34
Idaho	2. Diesel	862	862	5.83	148	175	-27	0.3200	-\$8.64	\$0.00	-\$8.64
Nevada	2. Diesel	564	564	5.83	26	0	26	0.2700	\$26.19	\$0.00	\$26.19
Oregon	2. Diesel	9,649	9,649	5.83	1,655	2,601	-946	0.0000	\$0.00	\$0.00	\$0.00
Utah	2. Diesel	872	872	5,83	150	110	40	0.3650	\$14.60	\$0.00	\$14.60
Washington	2. Diesel	3,814	3,814	5.83	654	456	198	0.4940	\$97.81	\$0.00	\$97.81
Wyoming	2. Diesel	829	829	5.83	116	208	-92	0.2400	-\$22.08	\$0.00	-\$22.08
		38,144	38,144		6,543	6,541	2		\$627.51	\$0.00	\$627.51

ONLINE SERVICES FILING RECORD: IFTA CARRIER RETURN



Taxpayer Name:NEW HAWK TRANS INCAccount Number:228-367232

Account Type: IFTA Carrier Tax Period Begin: July 01, 2024

Return Type: Original Period End: September 30, 2024

Due Date: October 31, 2024

 Submitted:
 Due Date:
 October 31, 2024

 Remaining Due:
 \$862.72

Confirmation #: 0-045-039-085

Summary	
1. Subtotal Amount Due or Credit	\$862.72
2. Penalty	\$0.00
3. Interest	\$0.00
4. TOTAL BALANCE DUE OR CREDIT	\$862.72

Filing Period: September 30, 2024

Jurisdiction Summary	ımmary											
Jurisdiction	Surcharge	Fuel Type	Total Miles	Total Miles Taxable Miles	MPG	Taxable Gal	Tax Paid Gal	Net Taxable Gal	Rate	Тах	Interest	Total
California		2. Diesel	16,216	16,216	5.90	2,748	2,106	642	1.0230	\$656.77	\$0.00	\$656.77
Idaho		2. Diesel	617	617	5.90	105	200	-95	0.3200	-\$30.40	\$0.00	-\$30.40
Nevada		2. Diesel	490	490	5.90	83	96	-12	0.2700	-\$3.24	\$0.00	-\$3.24
Oregon		2. Diesel	8,140	8,140	5.90	1,380	2,401	-1,021	0.0000	\$0.00	\$0.00	\$0.00
Washington		2. Diesel	2,859	2,859	5.90	485	0	485	0.4940	\$239.59	\$0.00	\$239.59
			28,322	28,322		4,801	4,802	-		\$862.72	\$0.00	\$862.72